

Divide by 10^{-3} (J)

Find each quotient.

$$28 \div 10^{-3} =$$

$$83 \div 10^{-3} =$$

$$88 \div 10^{-3} =$$

$$73 \div 10^{-3} =$$

$$95 \div 10^{-3} =$$

$$37 \div 10^{-3} =$$

$$10 \div 10^{-3} =$$

$$60 \div 10^{-3} =$$

$$29 \div 10^{-3} =$$

$$39 \div 10^{-3} =$$

$$17 \div 10^{-3} =$$

$$2 \div 10^{-3} =$$

$$9 \div 10^{-3} =$$

$$66 \div 10^{-3} =$$

$$82 \div 10^{-3} =$$

$$22 \div 10^{-3} =$$

$$62 \div 10^{-3} =$$

$$43 \div 10^{-3} =$$

$$34 \div 10^{-3} =$$

$$39 \div 10^{-3} =$$